Name: Class: Date:

Test on Factoring Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Factor the polynomial.

1. x*+6x+5
a. (x+D(x=5) c. (x+1D(x+5)
b. (x—1)(x-5) d (x-1)(x+5)
Short Answer

Factor the polynomial.

1. x*—16x+63

2. xP-Tx+12

3. y +6y—16

Factor the trinomial.

4. 33x* —79x +40
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10.

11.

49x? —21x +2

x> =3x—10

4x*— 4x—3

Factor the polynomial.

36t° — 16

p> -169¢*

x+6x+9

121x° — 44xy +4y°
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Factor the polynomial completely.

12. 27 —10x° + 5% — 25x

13. —80x? —44x + 180
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Name: K&/ Class:

Test on Factoring Review

Multiple Choice

Identify the choice that best completes the statement or answers the question.

Factor the polynomial.

é 1. x*+6x+5

a. (x+1)(x-5)
b. (x—1)(x-5)

Short Answer

Factor the polynomial.

1. x*- 16x+%q

2. xP-Tx+12

Factor the trinomial.

4. m (}io
~§T .z

63%€Z%x’(fx+ﬂo
3x(l\x - 3) -5 bx - 5)

e.
d.

(x+ 1) (x+5)
(x—1)(x+5)
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v, ks

(L{ﬁxz_/ci)% —')(4‘1) ,_/(1/}7

W(tse-2)e~Mx-0) oy
6. x2—3x—)10 @—z}('l"@

7. @ -[C

(Ax*cyler -9 -Cie
2x(? r-3) +l[2x-T)

Factor the polynomial.

8. 36t°—16

(56 +)L6-4)

9. p*>-169¢°

(p-r6)p? 58)

10. x*+6x+9

(c +9(x+72)

11, 121x% - 44xy + 4y 794
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Factor the polynomial completely.

12. (2x7 —10x° )réx3 —Zij

zy;(xt_.g‘) + Sx(*z-§'>
b e su)(x*- %)

13. —80x* —44x + 180
- ﬁ@ O
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26 ~ 29
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